Cof 3503 10/3/2¢

S:)ms (e hnse) => PP Se Jo Aj/f’ Feterizine &
B,g Ob o Aeme o Hechue cote.

g (art)

]
= how  mens  heee « nr a7

9~ & each ¥ adid byice |

. nr 3(9// I
G Nt ) ("“fm"ff v bere, >AM

n .
0, p(ar)(20n) 5 n?(an)’
= . (/ - -
__Z“’ ¢ ) b




l;c;%b C \,i<»>

o)+ Clar) + Clar2) v £(b) %% : %)wf’/«)f\[/qw/»—f/b/
n-3 —

L) + £ler) tlles2) v £(b)

a€(afl)f9/6"') 5 g[c;) G (erl) 1 9(@2) 5(b)
&by * olb)

L) 9ls)



) % 2@“ Ziﬂ)
(Clo)s Elent) +EenTe0))

(9(%)* S(ert) + - 9(4,))

(wf () + WC[M,)B(%) + 9((#/))
= (le)g(a)+£(a)glar )+ el Jole)+

—((4*1)9/c+()
ol |
Znr3 "2
Z(ze—;) - Z(Bu s )
213 212 S r>
:Za—zg,(z%—gkj
=1 =y

nt3 2t
wa{,W&/ ) <

Z —

_ 3 Z("ﬂ) _ g(”:)(”“/) —Cn-25

= ?J(Zn +7n'ré) ( 1 3,42) ~ S —26m

am—
—

2
= n 2 r 18- N bdn-3 -<nzs
- 9,2 s Wl - = = = =
Zf) _Z/I/‘ IO



) 3 2 =74 {mém#{ G

S - 4 ’—-)’ _,. ,/—)-.rdo SL)”
S= a+ ax +:7x}/+? |xl< |
— ‘xg‘: x £ 7
S«YQ = G
S("K) c < | /’9#46/”7
C - A inkake geo sum - |
[— %X l’[,[)(‘)f)n@f' /éh;?:
nf-i
Ce X







